Math 0099
University of North Georgia
Fall 2015

) Exam #1 - Second Attempt!
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Solve,
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Perform the indicated operation. Write the result in the form a + bi.

5) (7 - 8i) + (3 + 6i)

o =)

6) (V11 + 3i)(+f11 - 3i)

/= oA ﬁ}%ﬁf - 9.

/) =2 ()
/T = o2 O
7)1' "‘)‘.Ar' /ﬂ_,&l
5i e =
5
= _ /ﬂ’,(,
e

PO

PN

Find the power of a +bi
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Rationalize the denominator and simplify. Assume that all variables represent positive real numbers,
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Use rational exponents to simplify the following.

9
10) A }y1529

Simplify the radical expression. Assume that all variables represent positive real numbers,
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Solve the equation.
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Perform the indicated operation.
13) 3x8 + 3x7 - 3x3 + 9) - (13x8 - 4x5 + 9x3 - 10)
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Multiply.
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BONUS! Solve.
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